Calcular Porcientos (D)

Calcule el porciento o valor que se pide.

- ¢Qué porciento de 1.896 € es
1.422 €7

- ¢(Qué porciento de 2.420 € es
121 €7

. ¢Qué porciento de 852 € es
568 €7

- ¢Qué porciento de 2.324 € es
1.743 €7

. ¢Qué porciento de 4.380 € es
657 €7

10.

;Qué porciento de 3.290 € es
329 €?

;Qué porciento de 1.715 € es
343 €7

;Qué porciento de 4.480 € es
672 €?

;Qué porciento de 4.580 € es
687 €7?

;Qué porciento de 1.916 € es
958 €7
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Calcular Porcientos (D) Respuestas

Calcule el porciento o valor que se pide.

- ¢Qué porciento de 1.896 € es
1.422 €7
75%

- ¢(Qué porciento de 2.420 € es
121 €7
5%

. ¢Qué porciento de 852 € es
568 €7
66%3%

- ¢Qué porciento de 2.324 € es
1.743 €7
75%

. ¢Qué porciento de 4.380 € es
657 €7
15%

10.

;Qué porciento de 3.290 € es
329 €?
10%

;Qué porciento de 1.715 € es
343 €7
20%

;Qué porciento de 4.480 € es
672 €7?
15%

;Qué porciento de 4.580 € es
687 €7
15%

;Qué porciento de 1.916 € es
958 €?
50%
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